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1- nw/k gS & Milk is 1 

 1 nzo Liquid 2 Bksl Solid 

3 xSl Gas 4 BEC 
 

 

2- xSl ds d.kksa ds chp vkd"kZ.k cy gksrk gS & 1 

 Intermolecular force of attraction between gaseous molecule.   

 1 vf/kd More 2 de Less 

3 vR;f/kd Very much 4 buesa ls dksbZ ugha None of 

these 
 

 

3- cQZ dk ,d VqdM+k ty dh lrg ij rSjrs jgrk gS] D;ksafd & 1 

 A piece of ice floats on water, because -  

 1 ;g ty ls Hkkjh gksrk gS  
Ice is heavier than water. 

2 cQZ vkSj ty dk ?kuRo 
leku gksrk gSA   
Density of ice and water is equal  

3 cQZ ty ls gYdk gksrk gS 
Ice is lighter than water 

4 cQZ dk ?kuRo ty ls vf/kd 
gksrk gS  
Density of ice is more than that of 

water. 
 

 

4- xeZ djus ij xSl dk vk;ru& On heating density of gas  1 

 1 c<+rk gS Increases 2 ?kVrk gS Decreases  

3 vifjofrZr jgrk gS  
Never changes 

4 buesa ls dksbZ ugha  
None of these  

 

 

5- fuEufyf[kr esa dkSu diM+k xfeZ;ksa ds le; esa vf/kd vkjkensg gksrk 
gS\ 

1 

 Which of following clothes is comfortable during summer season ?   

 1 ikWfyLVj Polyster 2 flYd Silk 

3 lwfr Cotton 4 flaFksfVd Synthetic 
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6- izksVkWu d.k gS &  Proton particles is   1 

 1 _.kkosf’kr Negatively charged 2 /kukosf’kr Positively charged 

3 vkos'kghu Neutral 4 buesa ls dksbZ ugha None of 

these  
 

 

7 ijek.kq Hkkj cjkcj gksrk gS & Atomic weight is equal to 1 

 1 n 2 p  

3 n p+  4 buesa ls dksbZ ugha None of these 
 

 

8- ijek.kq ds ukfHkd esa dkSu ls d.k mifLFkr gksrs gS & 1 

 In nucleus of an atom which of these particle are present.   

 1 bysDVªkWu ,oa izksVkWu  
electron and proton 

2 izksVkWu ,oa U;wVªkWu  
Proton and neutron 

3 bysDVªkWu ,oa U;wVªkWu  
electron and neutron 

4 bysDVªkWu] izksVkWu ,oa U;wVªkWu 
electron, proton and neutron 

 

 

9 buesa dkSu vfØ; xSl gS\ 1 

 Which of the following is inert gas  

 1 ukbVªkstu Nitrogen 2 fu;kWu Neon 

3 Dyksjhu Chlorine 4 vkWDlhtu Oxygen 
 

 

10- dsuky fdj.ksa fdldk fdj.k iw¡t gS\ Canal rays are - 1 

 1 izksVkWu Proton 2 bysDVªkWu electron 

3 U;wVªkWu Neutron 4 α −  d.k α − particles  
 

 

11- ,d rRo ds leLFkkfud gksrs gSa& Isotopes of an element have  1 

 1 fHkUu ijek.kq la[;k  
Different atomic number 

2 fHkUu jklk;fud xq.k  
different chemical properties  

3 leku ijek.kq la[;k  
Same atomic number  

4 buesa ls dksbZ ugha  
None of these  

 

 

12 lksfM;e dk lgh bysDVªkWfud foU;kl gS& 1 

 Electronic configuration of sodium is -  

 1 2]8]3  2 2]1]8 

3 8]2]2 4 2]8]1 
 

 

13 fdlh rRo ds ijek.kq esa 18 U;wVªkWu ,oa 17 izksVkWu gSA rRo dk 
ijek.kq nzO;eku gksxk &  

1 

 It an element of atom contains 18 neutron and 17 proton. What will be its atomic 

weight.  
 

 1 35 2 17 

3 18 4 01 
 

 



14- ;fn fdlh oLrq dk foLFkkiu 'kwU; gS rks ml oLrq }kjk r; dh xbZ 
nwjh gS& 

1 

 If displacement of a body is zero then distance travelled by a body can be-  

 1 'kwU; Zero 1 'kwU; ugha Non zero 

3 _.kkRed Negative 4 'kwU; vFkok 'kwU; ugha Hkh gks 
ldrk gSA  
May be zero of may not  

 

 

15- vksMksehVj ekirk gS & Odometer measures- 1 

 1 pky speed 2 nwjh Distance 

3 le; time 4 vkSlr pky Average speed  
 

 

16- 118km hr−  dk osx ------------------- 1
ms

−  ds rqY; gksrk gS & 1 

 Change 118km hr−   velocity into …………… 1
ms

−    

 1 2 2 3 

3 4 4 5 
 

 

17- fdlh fo’ks"k fn’kk esa d.k dh pky dks mldk ----------- dgrs gSA  1 

 A particles speed in a particular direction is known as …………  

 1 osx Velocity 2 Roj.k acceleration  

3 pky speed 4 buesa ls dksbZ ugha 
None of these 

 

 

18- U;wVu fdldk ek=d gS\ Newton is unit of ?   1 

 1 cy dk Force 2 dk;Z dk Work 

3 Roj.k dk acceleration 4 osx dk Velocity 
 

 

19- U;wVu dk xfr dk dkSu lk fu;e cy dh ifjHkk"kk nsrk gS& 1 

 Which law of motion of Newton defines force ?   

 1 igyk First 2 nwljk Second 

3 rhljk Third  4 buesa ls dksbZ ugha 
None of these 

 

 

20 /ofu rjaxksa dh pky lcls T;knk gksrh gS& 1 

 Speed of sound is more in-   

 1 Bksl esa In solid 2 nzo esa In liquid  

3 xSl esa In Gas 4 rhuksa esa leku Same in three 

 

 
 

 



21- JO; /ofu dk ijkl gksrk gS& Avdible range of sound is -  1 

 1 0 20
z

H−  2 20 20,000
z

H−  

3 20 2000
z

H−  4 20,000
z

H ls T;knk  
 

 

22- vko`fr n  rFkk rjaxnS/;Z λ  okys rjax dh pky v  esa D;k laca/k gSA  1 

 Relation between frequency (n) wave length ( λ ) and speed ( v ) of a wave is   

 1 v nλ=  2 v
n

λ=  

3 v vλ=  4 buesa ls dksbZ ugha 
None of these 

 

 

23- dk;Z dk SI ek=d& S.I unit of work is  1 

 1 twy Joule 2 okV Watt 

3 ,fEi;j Ampere 4 vkse Ohm 
 

 

24- lkoZf=d xq:Rokd"kZ.k fLFkjkad G dk eku gS& 1 

 The value of universal gravitational constant G is -  

 1 2
11

26.67 10 Nm
kg

×  2 2
11

26.67 10 Nm
kg

−
×  

3 2
18

26.67 10 Nm
kg

×  4 2
18

26.67 10 Nm
kg

−
×  

 

 

25- pkj oLrq,¡ P, Q, R rFkk S ds nzO;eku Øe’k% 5 Kg,  10Kg, 15Kg  rFkk 
20Kg gSA fdldk tM+Ro lcls vf/kd gksxk\  

1 

 The masses of four bodies P, Q, R and S are 5Kg, 10Kg, 15 Kg and 20Kg 

respectively. Which will have maximum inertia?  
 

 1 P 2 Q 

3 R 4 S  
 

 

26- fuEu ls dkSu lgh gS& Which of the following is correct.  1 

 1 2 2 2V U as− =  2 2 22V as U+ =  

3 2 2 2V U as+ =  4 None of these  
 

 

27- ^vkRegR;k dk^ FkSyk dgykrk gS\  1 

 Which of following is known as suicidal bag-  

 1 yod Chloroplast 2 jkbckslkse Ribosome 

3 ykblkslkse Lysosome 4 dsUnzd Nucleus  
 

 

28- dksf'kdk dh [kkst fdlus dh& Who discovered cell? 1 

 1 jkcZV gwd Robert hook 2 jkcZV czkmu Robert Brown  



3 okVlu vkSj fØd Watson and 

crick 
4 ukWy ,oa jLdk Knoll and 

Ruska 
 

29- thu cus gksrs gSa& Genes are made up of- 1 

 1 DNA ds [kaM ls  
Fragment of DNA 

2 ekbVksdkWf.Mª;k ,oa jl/kkuh ls 
Mitochondria and vacuole  

3 Ykblkslkse ls form Lysosome 4 ØkseSfVu /kkxksa ls 
Chromatin thread  

 

 

30- jaxhu IySfLVM dks dgrs gSa & Coloured plastid is known as - 1 

 1 Y;wdksIykLV Leucoplast 2 DyksjksIykLV Chloroplast 

3 ØkseksIykLV Chromoplast 4 buesa ls dksbZ ugha 
None of these 

 

 

31- jDr gS & Blood is -  1 

 1 rjy la;ksth Ård 
Connective tissue 

2 LFkk;h Ård  
Permanent tissue 

3 olh; Ård Adipose tissue 4 gfjr yod  Green plastid  
 

 

32- jrkSa/kh dSlk jksx gS & Night blindness is - 1 

 1 vkuqoaf'kd jksx  
hereditary disease 

2 gkeksZuksa dh xM+cM+h ls mRiUu 
jksx  
Due to imbalance in hormone 

3 dqiks"k.k ls mRiUu jksx 
mal nutrition 

4 foVkehu ,0 dh deh ls 
mRiUu jksx  
deficiency in Vitamin A  

 

 

33- dkdZ dksf’kdkvksa esa ik;k tkrk gS & Cork cells contain 1 

 1 ySVsDl Latax 2 lsyqykst Cellulose 

3 lqcfju Suberin 4 fyXfuu Lignin 
 

 

34- 'kjhj dk ckgjh vkSj Hkhrjh j{kd vkoj.k cukrs gSa& 1 

 Which one of following forms the inner and outer protection covering of body  

 1 laosnh Ård Sensory Tissues 2 ,ihFkhfy;e Ård  
Epithelial tissue 

3 la;ksth Ård Connecting 

Tissue 
4 ddkay Ård Skeletal tissue  

 

 

35- ,fufe;k uked chekjh fdl iks"kd rRo dh deh ls gksrh gS& 1 

 Due to deficiency of which (nutrient) element does anaemia disease occur-  

 1 vk;ksMhu Iodine  2 vk;ju Iron 

3 rk¡ck Copper 4 tLrk Zinc  
 

 

36- ,d nh?kZdkfyd jksx gS& A Long lasting disease is  1 

 1 eysfj;k Malaria 2 ,fDtek Eczema  



3 tqdke Cold cough  4 gStk Cholera 
 

37- Okk;qeaMy esa dkcZuMkbvkWDlkbM ds c<+us dk laca/k gS& 1 

 The rise of the level of carbon dioxide in the atmosphere is concerned with -  

 1 leqnz ry ds mBus ls 
Rise in Sea level  

2 vkstksu ijr ds vi{k; ls 
Depletion of ozone layer  

3 vEy o"kkZ ls Acid Rains 4 pØokr ls Cyclones  
 

 

38- ikS/ks ftu inkFkksZ dk la’ys"k.k djrs gSa] os dgykrs gSa &  1 

 The substance synthesized by plants are called as -  

 1 tSo jlk;u Bio chemical 2 pV~Vku Rock 

3 Qy Fruit 4 dkcksZgkbMªsV Carbohydrate 
 

 

39- eysfj;k dk jksx okgd gS & The vector of Malaria is  1 

 1 eD[kh Housefly 2 ePNj Mosquito 

3 frypV~Vk Cockroach 4 pwgk Rat 
 

 

40 os izkd`frd inkFkZ ftudk mi;ksx euq"; vius thou&;kiu ,oa fodkl 
ds fy, djrk gS] dgykrs gSa &  

1 

 The Natural substance that are used by humans for living and development are 

called as 
 

 1 jklk;fud inkFkZ  
Chemical substance 

2 oLrq Object 

3 izd`frd lEink  
Natural Resource  

4 mi;ksxh inkFkZ useful substance 

 

 

 

 


